### Shri P.K.ChaudhariMahila Arts College,Sector-7, Gandhinagar.

# **Data of Sports Activities and Achievements**

# 2018-2019

# List of Program's Hosted by the College

Sr. No.	Year	Date	Name of Game
1	2018-19	31/10/2018	Special Olympics Khel-MahakumbhDisrtict Level Competition
		31/01/2018	Volley Ball Charity Run for Unity Organised by Special Olympics Gujarat
		05/02/2018	UmangUtsav Competition Organised by Gandhinagar District Sports Offices
		16/09/2018	Khel Maha Kumbh Zone Level Kho-Kho Tournament
		20/09/2018	Khel Maha Kumbh Zone Level Volley Ball Tournament













Organized Khel Maha Kumbh Zone Level Kho-Kho Tournament



# Organized Khel Maha Kumbh Zone level Volley Ball Tournament







# ACHIEVEMENT AT INTERNATIONAL LEVEL

**Achievement at International Level** 

Sr. No.	Year	Date	Name of Player	Name of the Game	Place	Rank
1	2018- 2019	29 to30 November	Chaudhary Shital K.	Taekwondo	Dehradhun	Gold Medal

# 2018-19





# CHAUDHARY SHITAL K.

# **Gold Medal**

6<sup>th</sup> International & 1<sup>st</sup> Para International Taekwondo Championship 2018

# LIST OF STUDENTS AT WEST ZONE INTER UNIVERSITY/ ALL INDIA INTER UNIVERSITY/ OPEN NATIONAL

# **List of Students Participated**

at

West Zone Inter University/All India Inter University/Open National

Sr. No.	Years	Name of the Students	Date	Name of the Game	Place
1	2018-19	NadiyaKinjal J.	07 to 12 November-2018	Hochey West Zone Inter Uni.	Gwalior
2	2018-19	Chaudhary Foram Y.	07 to 12 November-2018	Hockey West Zone Inter Uni.	Gwalior
3	2018-19	Patel Apexa Y.	07 to 12 November-2018	Hockey West Zone Inter Uni.	Gwalior
4	2018-19	Chaudhary Kirti C.	07 to 12 November-2018	Hockey West Zone Inter Uni.	Gwalior

SS					
5	2018-19	Chaudhary Darshana M.	02 to 05	Wrestling	Aurangabad
			November-2018	All India Inter Uni.	
6	2018-19	Chaudhary Bharati D.	08 to 14	Judo	Chandigadh
			December-2018	All India Inter Uni.	
7	2018-19	Chaudhary Varsha C.	08 to 11	Kabaddi	Mubai
			November-2018	West Zone Inter	
				Uni.	
8	2018-19	Chaudhary Maya M.	26 to 29	Fencing	Uttarakhand
			January-2018	Open National	
9	2018-19	PrajapatiAnuradha C.	26 to 29	Fencing	Uttarakhand
			January-2018	Open National	
10	2018-19	Panchal Chandrika M.	24 to 28	Athletics	Menglor Uni.
			November-2018	West Zone Inter	Menglor
				Uni.	



SS



SS



# **Achievements in Sports**

#### (1) Achievement at International Level In 2018-19

-Ms.Shital K. Chaudhary has awarded Gold Medal in 6<sup>th</sup> International &1<sup>st</sup> ParaInternational

Taekwondo Championship at Deharadun in 29th to 30th November-2018

#### (2) Gujarat University Ahmedabad Zone Inter College Wrestling Competition in 2018-2019

-In 2018-19 the College Participeted in the Gujarat University Ahmedabad Zone Inter College

Competition and 01 Gold Medal,02 Silver Medal and 04Bronz Medal

#### (3) Gujarat University Ahmedabad Zone Inter College Jodo Competition in 2018-19

-In 2018-19 the College Participeted in the Gujarat University Ahmedabad ZoneInter College

Competition and 01 Silver Medal and 04 Bronz Medal

#### (4) Gujarat University Ahmedabad Zone Inter College Boxing Competition in 2018-19

-In 2018-19 the College Participeted in the Gujarat University Ahmedabad Zone Inter College

Competition and 01 Silver Medaland01 Bronz Medal

#### (5) Gujarat University Ahmedabad Zone Inter College Athletics Competition in 2018-19

-In 20-18-19 the College Participeted in the Gujarat University Ahmedabad Zone Inter College

Competition and **01 Gold Medal,01 Silver Medal** and **02 Bronz Medal** 

### **INDOOR GAMES**

### 2018 - 2019

1	Judo	Participeted in the Gujarat University Ahmedabad Zone Inter College Competition at Gujarat			
		University Gymnesum Hall on 08/08/2018 .Chaudhary			
		$BharatiD. {\bf SilverMedal}, Nadiya Kinjal P. {\bf BronzMedal}, Chaudhary Lalita K. {\bf BronzMedal}, Chau$			
		aryDarshanaM.BronzMedal,Chaudhary Maya M.BronzMedal.ChaudharyBharati D.			
		represented Gujarat University for All India Inter University Tournament From Chandigardh			
		on 08 to 12 December.			
2	Wrestl	Participeted in the Gujarat University Ahmedabad Zone Inter College Competition at Gujarat			
	ing	University Gymnesum Hall on 29/08/18.Chaudhary			
		VarshaC.GoldMedal,ChaudharyDarshana M-Silver			

SS							
		$\label{eq:medal} Medal, ChaudharyBharatiD. SilverMedal, ChaudharyLalita~KBronzMedal, ChaudharyForam Medal, ChaudharyForam Medal,$					
		YBronzMedal, NadiyaKInjal P Bronz Medal and Patel Shital H					
		BronzMedal.ChaudharyDarshana M. represented Gujarat University For All India Inter					
		University Tournament From Aurangabad on 02 to 05 November.					
3	Boxin	Participeted In the Gujarat University Ahmedabad Zone Inter College Competition at					
	g	S.A.G.Compex,Naroda,Ahmedabad on 27/09/2018.Chaudhary Foram Y -SilverMedal and					
		Patel Shital H-Bronz Medal					



# **OUT DOOR GAMES**

# 2018 - 2019

1	Hockey	Gujarat University Ahmedabad Zone Inter College <b>Runners Up</b> at Gujarat			
		College,Ahmedabad on			
		08/10/2018.sNadiyaKinjalP.,ChaudharyForamY.,PatelApexaB.and Chaudhary			
		Kirti C. represented Gujarat University For Inter University Tournament at			
		Gwalior on 07/11/18 to 12/11/18			
2	Kabaddi	Participeted in the Gujarat University Ahmedabad Zone Inter College			
		Competition at Arts and Commerce College, Naroda , Ahmedabad on Chaudhary			
		VarshaC.represented Gujarat University for Inter University Tournament			
		atMubaiUni.Mubai on 08 to 11 November			
3	Athletics	Participeted in the Gujarat University Ahmedabad Zone Inter College			
		Competition at Gujarat University SintheticsTrack,Ahmedabad on			
		19,20,21/12/2018.Panchal Chandrika M.400mt Run-Gold Medal,200mt Run-			
		Silver Medal and 100mt Run- BronzMedal, Chaudhary Alka M 400mt			
		Hurdals- BronzMedal.PanchalChandrika M. represented Gujarat University for			
		All India Inter University Tournament atMenglor University Meglor(Karnataka)			
		On 24 to 28 November			





# Shri P. K. ChaudhariMahila Arts College, Sector-7, Gandhinagar

# **KHEL MAHA KUMBH**

### Data of Sports Activities and Cash Prizes

# 2018-2019

Sr.	Name Of The	Rank	Participetion of	Amount	Total
No.	Game		Student		Amount
1	Hockey	District First	16	3000/-	48,000/-
2	Tough of War	District First	09	3000/-	27,000/-
3	Foot Ball	District Second	16	2000/-	32,000/-
4	Kho-Kho	Disrict Second	12	2000/-	24,000/-
5	Kabaddi	District Second	12	2000/-	24,000/-
6	Judo	District Second	01	3000/-	3000/-
7	Judo	District Third	03	2000/-	6000/-
8	Wrestling	District Second	01	3000/-	3000/-
9	Wrestling	District Third	03	2000/-	6000/-
10	Athletics	District First	02	5000/-	10000/-
11	Athletics	District Second	02	3000/-	6000/-
12	Athletics	Disrtict Third	02	2000/-	4000/-
				Total	1,69000/-